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ol

7, 380_775 1837 180 1459 03504 0.3531 18%

2141 0309 03155 18%

2, 380_775 17.62 180

7,380_775 1837 180 1459 03504 0.3531 18%

7,380 7751762 180 2141 0.309 03155 18%

XVZW =95.04, 100.0, 108.89 Parameter: XYZW =96.42 , 100.0, 82.49 Parameter: XYZ,=95.04,100.0, 108.89 Parameter: XYZ,=96.42,100.0, 82.49 Parameter:
., 1004 B vaName 1004 B vename A =256,-2,)Y Y & Name A=256-a,)Y 1004 B1  vename
Lichtart D65 Lichtart D50 B, = 2,58, (b, - b, ) Y Lichtart D65 B, = 258, (b, - b, ) Y Lichtart D50
Pid e Y,,=100 Y,=50 azay[(x-x.)/y Y,,=100Q Y, =50 a =ay[(x-x)/y . Y,,=100 Y,=50 a=an[(x-x)/y J. Y,,=100Q Y, =50
oy, e b=byl2/Y =bylz/y =bylz/y
\ o. T e ay=1, byy=-04 e a,=1, byy=-0,4 ay=1, byy=-0,4
| X, = 0,000, B, = 1,000 . X, =0,110,B, = 1,000 X =0,110,B, = 1,000 '
Cpo=[P+872 | 8% Q @69R, | Crp=[A+B2 ®70R CopTlAPBA™ Crar=IA+B{12 1776,0
6 OstwaldFarben (0) .\ v A 6 OstwaldFarben (0) 3 Ri VA 6 OstwaldFarben (0) Ay 6 OstwaldFarben (0) B 4 Ay
von maximalem (m)C,, im —t D6§> — + von m)C,gim | —t D5§> ——t von maximalem (m)C,, im - + von m)Cpgim | +—4 s +
Buntwertdiagramm (A, B)  ~100 81G,0. Buntwertdiagramm (A,B)  ~100 % goc, @ o73Mm, " 100 Buntwertdiagramm (A, B) ~ ~100 H 81C, O 100 Buntwertdiagramm (A,B)  ~100  lgoc, ©. 100
Lichtart D65, ¥,,=100, Y, =50 | Lichtart D50, Y,,=100, Y, =50 a4 Lichtart D65, ¥,,=100, Y, =50 s Lichtart D50, Y,,=100, Y,=50 H
name g, Bz & b N persiin, 2 A A L 3 w2 N b Name merinx, .z Ay b e,
R, 567775774 6903 5457 0385 03434596 489V« R, 570_775 80.72 70.07 41.35 0.42 03646 598 491 d . R, 567_77577.4 6903 5457 0.385 03434596 485" R, 570_775 80.72 70.07 41.35 0.42 03646 598 491
Y, 493775 86.13 97.18 57.92 0.357 04028570 463 Y, 496_775 89.81 97.06 43.46 0.3899 0.4214 573 468 Y, 493775 86.13 97.18 57.92 0.357 04028570 463 %, Y, 496_775 89.81 97.06 43.46 0.3899 0.4214 573 468 -
G, 493 567 56.35 78.24 57.9 0.2927 04064535 535¢ I G, 496570 57.4 77.00 43.43 03226 0.4332538 538c ... G, 493 567 56.35 78.24 57.9 02927 0.4064 535 535¢ . G, 496570 57.4 77.00 43.43 03226 0.4332538 538c .~
C, 380567 65.3 8111 108.920.2557 0.3176 489 59 . L’ C, 380 570 64,05 80.07 6251 0.2826 0.3532 491 598 C, 380 567653 B111 1089202557 03176 489 59 . C, 380_570 64.05 80.07 82,51 0.2826 0.3532 491 598
B, 380_493 56.57 52.96 10557 0.2629 02462 463 570 oLt B, 380_496 54.96 53.08 80.4 02916 0.2816 468 573 B, 380_493 56.57 52.96 10557 0.2629 02462 463 570 . B, 380_496 54.96 53.08 80.4 02916 0.2816 468 573
M, 567_493 86.35 718 1055903272 0.2725 5350535 1004+ M),570_496 87.37 73.05 80.43 0.3627 0.3033 538c538 _1004 M, 567_493 86.35 718 105.590.3272 0.2725 5350535 100 M), 570_496 87.37 73.05 80.43 0.3627 0.3033 538c538 _1004
W,380_775 95.04 1000 108.89 03127 0.329 100% W)380_775 96.42 100.0 8249 0.3457 0.3585 100% W,380_775 95.04 1000 108.89 03127 0.329 100% W)380_775 96.42 100.0 8249 0.3457 0.3585 100%
N,'380_775 4752 500 5444 03127 0.329 50% N, 3807754821 50.0 4124 03457 0.3585 50% N,'380_775 4752 500 5444 03127 0.329 50% N, 3807754821 50.0 4124 03457 0.3585 50%
2, 360775171 180 196 031270329 18% 2 300_775 1735 180 1484 03457 03585 18% 2, 380775171 180 196 031270329 18% 2) 300_775 1735 180 14.84 03457 03585 18%
BGLO0-1A BGLOO-2A BGL91-1A BGLI1-2A
XYZ,,=100.93 , 100.0 , 64.68 Parameter: XYZ,=109.84 ,99.99, 35.58 Parameter: XYZW 100.93 , 100 0,64.68 Parameter: ><YZW =109.84, 99 99, 35.58 Parameter:
A=256-2a)Y 1004 B v&Name A=25@-a)Y 1004 B y&Name A =256 1004 B1  v&Name A=256 -2, 1004 B1  y&Name
“b)Y Lichtart P40 B=25B(b-b)Y Lichtart AGO B, =258, (b, - b1 )Y Lichtart P40 B, =258, (b, — h, Y% Lichtart A0
a=am[(x X ) I Y,,=100 Y, =50 azay[(x-x.)/y Y=10Q Y,=50 aj=azu[(x x.) /) Y,,=100Q Y,=50 aj=am[(x X )/ Y=10Q Y,=50
b=bylz/y el b=by[z/y b =by[z/y 1. =bylz/y
=1, by=-04 T 0= 1, byy= 04 + =1, by=-04 IR 0= 1, byy=-04 1
X, = 0,000, B, = 1,000 et x =0,000,B, = 1,000 X, = 0,110, B = 1,000 o8y, "+ x,= 0,110, B, = 1,000
: ~ JUPPES P - ' . I
Cog=lA48% ' ° i B G /R Coar=[AZB1 : ) Coar=[AZB; B U SR
L 77G,@ - Q—! - L 77G,@ " ¢ -
6 OstwaldFarben (o) \ G 6 OstwaldFarben (0) H 76,0 @R, 6 OstwaldFarben (o) i 4 @71R, ! Ay 6 OstwaldFarben (o) | 776,0 O 72R, H Ay
von maximalem (m)C,g im I '-‘ t P40(> von (M)Cyg = 750 0 A00(> o t von maximalem (m)C,g im I T t o +— t von (M)C,g im I + 79d‘ S A0(> -2 v t
Buntwertdiagramm (A,B) 100 79G,O Buntwertdiagramm (A, B) -100 - o, Sod.. 100 Buntwertdiagramm (A,B) 100+ 79G, O. @73M, ! 100 Buntwertdiagramm (A,B)  ~100 . 7 % = s 100
Lichtart P40, Y,,=100, Y, =50 tel Lichtart A0O, Y,; 100 Yy=50 Lichtart P40, Y,,=100, Y, =50 tel 5oB .. Lichtart A0O, Y, 1UQ Yy=50 Tl e
Name Bereich X, @ Ya N A Name BerechX, V. Name Bereich X, W Yo Mg A LT Name BerechX, V.
R, 573_775 8562 70.65 32.43 04537 0.3743 600 493 ~ R, 579_775 9493 7158 17 84 05149 oaasz sus 499 4 R, 573_775 8562 70.65 32.43 04537 0.3743 600 493 RIS R, 579_775 9493 7158 17 84 05149 oaasz sus 499 4
V 498_775 95.81 97.72 34.43 0.4202 0.4286 576 468 Y 504_775 107.298.04 18.99 0.4781 0.4371581 474 V 498_775 95.81 97.72 34.43 0.4202 0.4286 576 468 i Y 504_775 107.298.04 18.99 0.4781 0.4371581 474
G5 498573 60.75 77.17 34.41 0.3525 04477 540 540¢ G, 504 579 67.31 76.55 18.97 0.4133 04701547 S47c G5 498573 60.75 77.17 34.41 0.3525 04477 540 540 G} 504579 67.31 76.55 18.97 0.4133 04701547 S47c
C1 380573 65.92 79.49 6469 0.3137 03783 493 600 C. 380579700 7856 3557 03801 0.4266499 605 C1 380573 65.92 79.49 6469 0.3137 03783 493 600 C. 380579700 7856 3557 03801 0.4266499 605
B, 380_498 55.73 52.42 62.60 03262 0.3068 468 576 B, 380_504 57.72 52.1 34.43 04001 0.3612 474 581 B, 380_498 55.73 52.42 62.60 03262 0.3068 468 576 B, 380_504 57.72 52.1 34.43 04001 0.3612474 581
M, 573498 80.79 72.97 62.71 04008 03222 5406540 _1004+ M, 579_504 97.62 7359 34.45 04746 03578 S47cS47 1004 M, 573498 80.79 72.97 62.71 04008 03222 5406540 _100 M, 579_504 97.62 7359 34.45 04746 03578 S47cS47 1004
W;380_775 10098000 64.68 0.3799 03764 100 W)380_775 100.880.99 35,58 0.4475 0.4074 100% W;380_775 10098000 64.68 0.3799 03764 100% W)380_775 100.80.99 35,58 0.4475 0.4074 100%
N, 380_775 5046 500 3234 03799 0.3764 50% N, 380775 54.92 49.99 17.79 0.4475 04074 50% N, 380_775 5046 500 3234 03799 0.3764 50% N, 380775 54.92 49.99 17.79 0.4475 04074 50%
Z; 380775 18.16 18.0 1164 0.3799 03764 18% 2, 380775 19.77 17.99 64 04475 0.4074 18% 2, 380775 18.16 18.0 1164 0.3799 03764 18% 2, 380775 19.77 17.99 64 04475 0.4074_18%
BGL90*3A BGL90-4A BGL91*3A BGL91-4A
)(VZW 100.0, 100.0,, 100.0 Parameter: XYZ,,=98.07 ,100.0 , 118.22 Parameter: XYZ,=100.0, 100.0 , 100.0 Parameter: XYZ,,=98.07,100.0, 118.22 Parameter:
1004 B vaname A=256-3)Y 2004 B vaName A =256,-2,)Y Y & Name A=256-a,)Y 1004.B1  v&Name
Lichtart EO0 B=25B,(b-b)Y -~ Lichtart C00 B, =258, (b, -y )Y Lichtart E00 By= 2,58, (by~by) Y o7 | .. Licntartcoo
a=ay,[(x=x.)/% L7 -t Y,,=100 Y, =50 a=ay[(x-x)/) R Y,,=100 Y, =50 a1 azu[(x %)/ Y,,=100 Y, =50 aﬁagu[(x %) R *._ Y,=100 Y, =50
b=bylz/y i b=by[z/y o by =by[2/y b_bzolll g 97Y, s,
a0=1, 0y =-04 N 8= 1, by =-04 \ .\ 80=1, b, =-04 3= 1, by = : s
x =0,000, B = 1,000 ' \ xc= 0,000, Bc =1,000 N 7 \ x.=0,110,B_ = 1,000 ><E 0,110,B.= 1 ,000 H 776, H
Cop=lABY | 776,Q : Cog=lAB 2 , 7% Q @0R, ! Coar=IAFBA" CoarlAZBA” SN OT0R, |
stwaldFarben (o) ’ stwaldFarben (o) \ \ stwaldFarben (o) stwaldFarben (o) H :
6 OstwaldFarb ) " GOlwIdF ben ( K 3 6 OstwaldFarb ) GOlwIdF ben ( H H Al
von maximalem (m)C,g im ~ F——— von m; —= + + von maximalem (m)C,g im von m; k + t +
I Ceo ' y Eoo<> MCy ' y co§> — I Ceo ' MCy ' = y
Buntwertdiagramm (A,B)  ~100 '-‘ 80G, O Buntwertdiagramm (A, B) -100 % a0c, ' 100 Buntwertdiagramm (A,B)  ~100 Buntwertdiagramm (A, B) -100 : 80C, & H 100
Lichtart E00, Y,,=100 Y, =50 | \ Lichtart C00, Y,,=10Q Y, =50 \, 806 o73M, \ Lichtart 00, Y,,=100 Y, =50 Lichtart C00, Y,,=10Q Y, =50 180G, ©73M,!
Name oranx, 3z N ) ame oerix, 2 N name porsen, 3, 7, . ame e, 2, aoa :
R, 570775 82.79 70.26 50.12 0.4074 03458568 489 "~ L2 R, 567775 79.69 69,69 50.25 03819 0334 596 487"~ , ® . R, 570_775 8279 70.26 50.12 0.4074 0.3458 58 4gds R, 567775 79.69 69,69 50.25 03819 0334 596 487 '
v 434775 9173 97.45 531 0786 04022573 463 ¥ 4907775 8831 97.06 G269 03550 03912571 463 538, : v 434775 9173 97.45 531 0786 04022573 463 V4492775 83:31 9706 62.69 03559 03912571 463 s 538, ®
G, 494570 50.04 77.29 5307 03117 0.408 536 536c G, 492567 57.75 77.47 62.66 0.2918 03914 535 5350 . G, 494570 50.04 77.29 5307 03117 0.408 536 536c . G, 492567 57.75 77.47 62.66 0.2918 03914535 5350 .
C, 380_570 67.35 79.88 100.0202724 0.323 439 598 C, 380_567 67.55 80.45 1182502537 03021 437 596 - C, 380_570 67.35 79.88 1000202724 0.323 439 598 .. C, 380_567 67.55 80.45 118.25 0.2537 0.3021 487 59 .~ 3
B, 380_494 56.41 52,69 97.05 0.2806 0.2531 463 573 B, 380_492 58.04 53.08 114.820.2508 0.234 463 571 .~ L B, 380_494 56.41 52,69 97.05 0.2806 02531463 573 N B, 380 492 56.94 5308 1148202508 0234 463 571 A .
M, 570.454 911 7285 9707 0349 02751 536053 Wyser sz 05 267 1asa0azs ozezasasesss g0l el e M, 570.454 911 7285 9707 0349 02751 5360535 1004 Wyser sz 005 7267 1484007 0zZsamess  _qonl
W} 380_775 100.0 100.0 100.0 0.3333 0.3333 100% W)380_775 98.07 100.0 118.22031 03161 100% . W} 380_775 100.0 100.0 100.0 0.3333 0.3333 100% W)380_775 98.07 100.0 118.22031 03161 100% g
N.'380775500 500 500 03333 03333 50% N,'38077549.03 50.0 59.11 031 03161 50% N,'380775500 500 500 03333 03333 50% N,'38077549.03 50.0 59.11 031 03161 50%
2,380 775180 180 180 03333 0.3333 18% 2, 380775 17.65 180 2126 031 03161 18% 2,380 775180 180 180 03333 0.3333 18% 2, 380775 17.65 180 2128 031 03161 18%
BGL90-5A BGL90-6A BGL91-5A BGL91-6A
2,,~102.06 , 100.0,, 81. arameter: XYZ,=97.93 ,100.0 , 118.95 Parameter: XYZ,=102.06 , 100.0 , 81.06 Parameter: XYZ,,=97.93 ,100.0 , 118.95 Parameter:
A=256-2a)Y 1004 B veName A=256-3)Y ~+2004 B vaname A=256-3,)Y 1004 B1  veName A=256-a,)Y 100481 vanName
B=258,(b-b,)Y Lichtart P00 B=258,(b-b)Y Lichtart Q00 B, =258, (b, by Y Lichtart P00 B, = 2,58, (b, - b, ) Y s, Lichtart QOO
a=a,[(x=x)/9 IO Y,=100Q Y,=50 a=a,[(x=x.)/) ‘," Y=10Q Y,=50 azg[(x X )/y] N Y,,=100 Y,=50 ai=a20[(x Xe )Iﬂ e *., Yw=100 Y, =50
b=bylz/y Jotias ... b=bylz/y . b =by[z/y . by =by[z/y 97Y, s,
2,=1, b, =-04 Fy . 2,=1, by =-04 \ N 8,=1, b,y =-04 2,=1, by =-04 - N
X;=0000,B, =1,000 : ol ... %= 0.000,8,= 1,000 \ 706 @ y X, = 0,110,B, = 1,000 : Xe=0,110,8, = 1,000 :
Cpg=[A+8] \ 77G,@ @R, g =L AHER 2 | 78G @T0R, Cag=IA+BT 1 776,0 CpgiS[AMBAM @70R, !
6 OstwaldFarben (o) Y 4 Ry A 6 OslwaIdFarben (0) . 0y 6 OstwaldFarben (o) ' 6 OslwaIdFarben (0) H Al
von maximalem (m)C,g im  ——+ P00<> t —t von (M)Cygim | - 05} —t von maximalem (m)C,g im —t von (M)Cygim | D + t
Buntwertdiagramm (A,B)  ~100 % goc, ©. ®73m . 100 Buntwertdiagramm (A,B)  ~100 BlC % o s 100 Buntwertdiagramm (A,B)  ~100 1 goc, O Buntwertdiagramm (A, B) ~ ~100 H 100
Lichtart P00, Y,,=100, Y,,=50 Y Lichtart Q00. ¥,,<100 ¥,=50 d oM, Lichtart P00, Y,,=100, Y,=50 : Lichtart Q00. ¥,,<100 ¥,=50 oM,
Name Bereich X, Yy Z, Xy Y A A Tee o 2 Name BerechX, V. 2, X, Name Bereich X, Yy Z, Xy Y, A A e Name BerechX, V. 2, X\ H
R, 572775 8550 70.37 40.63 04353 0.3579600 401 dl Lot R, 567_775 7952 6954 58.62 0 a8t 0355 595 P .~ ° " R, 572_775 8550 70.37 40.63 0.4353 0.3579600 401 "~ R, 567_775 7952 6954 58.62 0 s81 0355 595 by, b H
Y, 496_775 95.45 97.28 42.56 0.4056 0.4134 575 467 . ¥, 492,775 87.99 97.23 6308 03543 03015570 462 *+ s Y, 496_775 95.45 97.28 42.56 0.4056 0.4134 575 467 S PR V) 492775 87.99 97.23 63.08 0.3543 03915 570 462, 538, ..
G, 496572 60.99 77.01 42,54 0.3378 0.4265 541 541 et G, 492_567 5754 77.78 63.06 029 0392 535 535 L G, 496572 60.99 77.01 42,54 0.3378 0.4265 541 541c BN Mo G 492.567 5754 7778 63.06 029 0392 535 53¢ 4
C; 380672 67.65 79.77 8107 0.296 03491491 600 C, 380567 67.52 80.6 11898 0.2527 0.3017 487 596 R C; 380672 67.65 79.77 8107 0.296 03491491 600 C, 380567 67.52 80.6 11898 0.2527 0.3017 487 596 . -
B, 380496 57.8 5286 79.14 0.3045 0.2784 467 575 B, 380_492 59.04 52.01 115,52 0.2505 0.2326 462 570 R B, 380496 57.8 5286 79.14 0.3045 0.2784 467 575 B, 380 492 50.04 52.91 115.520.2595 0.2326 462 570 .~ .
M, 572_496 9226 7313 79.17 03772 0.299 541c541 —1004 M, 567_492 89.5 72.36 115.54 0.3226 0.2608 5350535 . M, 572_496 9226 7313 79.17 03772 0.299 541c541 —1004 M, 567_492 89.5 72.36 115.54 0.3226 0.2608 5350535 T -
W 380_775 102.0800.0 8106 0.3604 0.3531 100% W, 380_775 97.93 100.0 116.950.300 0.3155 100% W 380_775 102.0800.0 8106 0.3604 0.3531 100% W, 380_775 97.93 100.0 116.950.300 0.3155 100% >
N.'380 7755103 500 4053 03604 0.3531 50% N,'380775 4896 50.0 59.47 0309 03155 50% N.'380 7755103 500 4053 03604 0.3531 50% N,'380775 4896 50.0 59.47 0309 03155 50%
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BGL90-8A
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BGL90-7N

CIE-02, DiagrammeA, B) & (A1, By), C=2:1
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